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Spring Multiplication Mosatc

Multiplication 3x, 4x and 8x tables
Solve the maths problems to reveal the hidden picture. Each answer has a
special colour:
3,4,6,9,15, 21, 27, 36 or 56 = blue 24, 32, 33, 40 or 48 = green

8, 12, 16, 20 or 30 = purple 28, 64, 72 or 80 = yellow

3x1 | 12x3 | 1x4 [ 3x4 | 8x1 | 4x3 | 5x3 [ 9xa | 3x3

7x3 | 3x5 | 4x2 | axs [ sx4 [10x3 | 8x2 | 4x9 [3x12

axt | axs | sxa [ 1x8 | 7x4 | 5x4 [3x10| 2x4 | 5x3

2x3 | 8x7 [3x10 | 2x4 | 2x8 | 4x3 | 2x4 | 7x3 [ 4x9

4x9 | 1x3 | 3x3 [ 4x3 | axs |3x10| 3x3 [ ax1 | 3x2

3x2 | 9x3 [3x12| 3x7 [ 8x3 | 3x1 [12x3 | 1x4 |12x3

wx12 [3x11 | 5x3 [ 9x4 | 4x6 [ 7x3 | 3x3 | 6x8 | 8x4

6x4 | 6x8 | 5x8 | 3x9 [4x10| 1x3 [ 8x5 |11x3 |3x11

3x9 [10x4 | 3x8 | 7x8 | 6x8 | 2x3 [12x4 | 10x4 | 3x3

7x8 [12x3 | 1x4 | 4x8 | 8x6 | 4x6 [ 8x7 | 5x3 [ 9x4
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Colour by Multiplication

Work out the answer to the multiplication sentences and colour in
the shape with the colour of the correct answer.
020 2140 4160 61-80 81100 101120 121140
blue pink _green orange purple red _uellow

8x8





